

$$1) \quad \begin{cases} dy - (1+y^2)dx = 0 \\ dy + (1+y^2)dx = 0 \end{cases} \quad \frac{dy}{1+y^2} - dx = 0$$

$$2) \quad u_y = \frac{1}{1+y^2} v_1 - \frac{1}{1+y^2} v_2$$

$$u_{yy} = (u_y)_y = \frac{1}{(1+y^2)^2} v_{11} - \frac{2}{(1+y^2)^2} v_{12} + \frac{1}{(1+y^2)} v_{22} + \underline{v_1 \cdot \left(\frac{1}{1+y^2}\right)' - v_2 \cdot \left(\frac{1}{1+y^2}\right)'}$$

$$u(x,y) = v(3,2)$$

$$u_y = v_1 \cdot 3y + v_2 \cdot 2y$$

$$(\cdot)_y = (\cdot)_1 \cdot 3y + (\cdot)_2 \cdot 2y$$

$$\text{w 34 (2)} \quad \mathcal{D} = (1+y^2)^2 > 0 \quad \forall x, y \in \mathbb{R}$$

$$\mathcal{D} = (x^2+1)y^2 \geq 0, \quad 1) y=0 \rightarrow$$

$$2) y \neq 0 \rightarrow$$

c. 86, n 40 (2)

$$u_{xx} + 4u_{xy} - 5u_{yy} + u_x - u_y = 0$$

$$u(x, 0) = 2x, \quad u_y(x, 0) = 1$$

1.  $A = 1, B = 2, C = -5, \quad B^2 - 4AC = \underline{\underline{9}} > 0 \rightarrow \Gamma$

2.  $(dy)^2 - 4dydx - 5(dx)^2 = 0$

$$(dy)^2 - 4dydx + 4(dx)^2 - 9(dx)^2 = 0$$

$$(dy - 2dx)^2 - (3dx)^2 = 0$$

$$(dy - 5dx)(dy + dx) = 0$$

$$\begin{cases} dy - 5dx = 0 \\ dy + dx = 0 \end{cases} \quad \begin{cases} y - 5x = C_1 \\ y + x = C_2 \end{cases}$$

3.  $\begin{cases} 1 = y - 5x \\ 2 = y + x \end{cases}$

$$v_{33}: 25 - 5 - 20 = 0$$

$$v_{22}: 1 - 5 + 4 = 0$$

$$v_{32}: -10 - 10 - 16 = -36$$

$$v_3: -5 - 1 = -6$$

$$v_1: 1 - 1 = 0$$

4.  $u(x, y) = v\left(\frac{y-5x}{3}, \frac{y+x}{2}\right)$

$$1 \quad u_x = -5v_3 + v_2$$

$$-1 \quad u_y = v_3 + v_2$$

$$1 \quad u_{xx} = 25v_{33} - 10v_{32} + v_{22}$$

$$-5 \quad u_{yy} = v_{33} + 2v_{32} + v_{22}$$

$$4 \quad u_{xy} = -5v_{33} - 4v_{32} + v_{22}$$

$$-36v_{32} - 6v_3 = 0$$

$$v_{32} + \frac{1}{6}v_3 = 0$$


---

$$4. \quad v_{z_2} + \frac{1}{6} v_{z_3} = 0$$

$$\begin{cases} v_{z_3} = w \\ w_{z_2} + \frac{1}{6} w = 0 \quad \vee \end{cases}$$

$$w_{z_2} + \frac{1}{6} w = 0$$

$$\lambda + \frac{1}{6} = 0$$

$$e^{-\frac{z_2}{6}} \quad w = C(z_3) e^{-\frac{z_2}{6}},$$

$$v_{z_3} = C(z_3) e^{-\frac{z_2}{6}}$$

$$v(z_1, z_2) = \underbrace{\int C(z_3) e^{-\frac{z_2}{6}} dz_3}_{e^{-\frac{z_2}{6}} \underbrace{\int C(z_3) dz_3}_{\text{"}\Phi(z_3)\text{"}}} + F(z_1)$$

$$v_{z_2} + \frac{1}{6} v = C(z_1)$$

$$v(z_1, z_2) = e^{-\frac{z_2}{6}} \cdot \Phi(z_3) + F(z_1)$$

$$5. \quad u(x, y) = e^{-\frac{x+y}{6}} \Phi(y-5x) + F(x+y) \quad (\psi)$$

$$\begin{aligned} u(x, 0) &= 2x \\ u_y(x, 0) &= 1 \end{aligned}$$

$$6. \quad u_y(x, y) = -\frac{1}{6} e^{-\frac{x+y}{6}} \cdot \Phi(y-5x) + e^{-\frac{x+y}{6}} \cdot \Phi'(y-5x) + F'(x+y) \quad (**)$$

$$\begin{cases} u(x,0) \stackrel{(x)}{=} e^{-\frac{x}{6}} \cdot \Phi(-5x) + F(x) = 2x \\ u_y(x,0) \stackrel{(x)}{=} -\frac{1}{6} e^{-\frac{x}{6}} \cdot \Phi(-5x) + e^{-\frac{x}{6}} \Phi'(-5x) + F'(x) = 1 \end{cases}$$

$$F(x) = 2x - e^{-x/6} \Phi(-5x) \quad \textcircled{V}$$

$$\underbrace{-\frac{1}{6} e^{-\frac{x}{6}} \Phi(-5x)} + \underbrace{e^{-\frac{x}{6}} \Phi'(-5x)} + 2 + \frac{1}{6} e^{-x/6} \Phi(-5x) + 5e^{-x/6} \Phi'(-5x) = 1$$

$$6e^{-\frac{x}{6}} \Phi'(-5x) = -1$$

$$\Phi'(\underbrace{-5x}_t) = -\frac{1}{6} e^{x/6}$$

$$\Phi'(t) = -\frac{1}{6} e^{-\frac{t}{30}}$$

$$\Phi(t) = 5e^{-t/30} + C \quad \rightarrow \textcircled{V}$$

$$-5 \Phi'(-5x) = \frac{5}{6} e^{x/6}$$

$$\Phi(\underbrace{-5x}_t) = 5e^{x/6} + C$$

$$\Phi(t) = 5e^{-\frac{t}{20}} + C$$

$$\begin{cases} F(x) = 2x - e^{-x/6} \cdot (5e^{x/6} + C) = \\ = \underline{\underline{2x - 5 - C \cdot e^{-x/6}}} \end{cases}$$

$$\Phi'(\psi(x)) = f(x)$$

$$\psi'(x) \Phi'(\psi(x)) = \psi'(x) f(x)$$

$$\int \underbrace{\psi'(x)} \underbrace{\Phi'(\psi(x))} dx = \int \psi'(x) f(x) dx + C$$

$$\int \Phi'(\psi(x)) d\psi(x) =$$

$\Phi, F \rightarrow \textcircled{4}$

$$\underline{u(x, y)} = e^{-\frac{x+y}{6}} \cdot \left( \underline{\underline{5 \cdot e^{-\frac{y-5x}{30}}}} + c \right) + 2(x+y) - 5 - c \cdot e^{-\frac{x+y}{6}} = \underline{\underline{2(y+x) - 5 e^{-\frac{y+x}{6}} - 5}}$$

c. 86  
2/3: 40(1)  
n 40(3)  $\rightarrow$  макс., обм. през. | 3. n